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1. B is correct because it accurately reflects the central message conveyed by the speaker in the text. The speaker is expressing optimism about the opportunities and challenges of the new century, describing it as a moment that will define the nation's course and character for decades to come. 

2. F is correct because it accurately summarizes the historical events and achievements that characterized America in the 20th century as described in the text. In the text, it is mentioned that during the 20th century, America became the world's mightiest industrial power, played significant roles in both World Wars and the Cold War, and made advancements in civil rights and technology. 

3. C is correct because it accurately reflects the choices and their impact as described in the text. At the beginning of the 19th century, the choice was to expand the nation from coast to coast, which resulted in westward expansion and the growth of the United States. At the beginning of the 20th century, the choice was to harness the industrial revolution to certain values, leading to economic and industrial growth while emphasizing principles like free enterprise, conservation, and human decency. 

4. B is correct because in the text, the speaker references the Bible verse and the words of Miss Julia Coleman to emphasize the importance of adjusting to changing times while holding onto unchanging principles. This suggests that the speaker is advocating for a balance between preserving core values and adapting to the evolving circumstances of the nation.

5. G is correct because in the text, the speaker speaks positively about the American dream, stating that it endures and encourages the audience to have full faith in their country and in one another. 

6. C is correct because in the text, the speaker expresses the idea that the President has a responsibility to stay close to the people, be worthy of them, and exemplify what they are. The speaker emphasizes the need for unity and trust among the people and suggests that the President should work together with them, relying on their strength and wisdom. 

7. G is correct because in the text, the speaker emphasizes the idea of creating a new national spirit of unity and trust and states that the people's strength can compensate for the President's weakness, and their wisdom can help minimize the President's mistakes. This implies a collaborative relationship between the government and the people, working together to achieve common goals.

8. B is correct because both Passage A and Passage B share a common theme of emphasizing unity, trust, and faith in the nation's ability to address challenges and uphold enduring principles. Passage A discusses the need for the nation to choose to shape the forces of the information age and form a more perfect Union, while Passage B encourages faith in the old dream of American ideals and the creation of a new national spirit of unity and trust. 

9. F is correct because both Passage A and Passage B emphasize the active role of the people in shaping the nation's future. Passage A mentions that "a free people must now choose to shape the forces of the information age" and encourages collaboration between the government and the people. Passage B highlights the people's role in providing inner and spiritual strength, creating a new national spirit of unity and trust, and mentions that only a people can provide the new spirit.
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